We will find the voltage Vz using mesh analysis.
Begin by temporarily ignoring Vz so that we can set up the mesh equations.

Label the mesh currents using the standard clockwise labels.

Notice that we have current sources.

The left current source is in its own mesh, so I1 is 3 A.

The right current source controls the current I3, so I3 is 3 A.

We only need to write one Kirchhoff’s Voltage Law (KVL) equation in Mesh 2.

Begin in the lower left corner.

The first voltage is 1 Ω * I2 – I1, for I2 is in the same direction as our movement, while I1 is in the opposite direction.

The second voltage is 1 * I2 since I2 is the only current through the resistor.

The final voltage is 1 * (I2-I3).

Set the sum of these voltages equal to zero.

We found I3 to be 3 A earlier.

Substitute I1 and I3 into Equation (2).

We now have one equation and one unknown. 

Collect I2 terms together on the equation’s left side and the constants on the right.

Solve for I2. We find that I2 = 2 A.

Now place the mesh current values back onto the circuit.

Now we’ll find Vz.

Write a KVL equation around a closed path that includes Vz and our known voltages.

We’ll choose the top right corner of Mesh 2.

The current through the top resistor is I2, or 2 A.

The current through the right resistor is I2 – I3, or -1 A.

The voltage across these is current * resistance. 

Write a KVL equation for this path.

We see Vz’s negative sign first, so it’s negative.

The resistor voltages are 2 and -1 V.

Set the sum equal to zero and solve for Vz.

We see that Vz = 1 V.

We could have noticed that Vz is the voltage across the left 1Ω resistor since the two are in parallel.

So the current would be (I1 – I2) * resistance, or (3-2)*1 = 1 V.

